ASSEMBLY INSTRUCTION

STEP 1 STEP 2

are assembled, all tighten to 100%.

wrong screws mayresult in damage to the product.

|
o

7 ©

0 @@m‘w
|
m

— F
— A M8*30

— E
— C M8*14

When assembling, first tighten to 80% tightness, and after all parts

Please strictly follow the instructions manuaor assembly. Using the

M8*30 113 CS M8*45 6D CS M8*14 lp CS M8*16




Please feel free to contact us if there any damage caused in transit.And do not return the product

without communication. That's very important for us. Thank you for your understanding.

You can contact us in the following ways:

1.Find your order in the list and Select
[Problem with order] .

SHIP TO
j.chreenebl ~ View order details View invoice

I Track package

Problem with order

Change shipping speed
Cancel items

View or edit order

2. Choose your topic from list displayed
and Select [Contact seller] .

@ You are not eligible to request a refund

Sarry, this order is not eligible for a refund under the A-to-z Guarantee becausa the m
updates an your package shipment.

What would you like to do?

() Reguest return

() Contact seller \

3. We will get back to you immediately as soon as we receive your message.




